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No. 2

SET SRWET
®x B | 400 BEE|mEWE | 4.00
4000 .9 I= 4.00
AEEIE 4.00
BREL
e
No. 1
SET SikWET
®& B | 4.58 BEWEE | 4.58
) 4580 2 B 458
AREEIE 4.58
BEEx 0.10
No.0
SET SEMET
® B | 370 BEmEE | 3.70
3700 H = 3.70
AEEEIE 3.70
BEEx 0.10
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No.5

SERT SiRmET
S = 3.80| MRS E 3. 80
3800 ® = 3. 80
FEEIE 3. 80
et 0.10
= |
No. 4
SHET SiRmET
E -] 430 IR E 4.30
4300 H = 4. 30
FEEEIE 4.30
BEEt 0.10
—
No. 3
SHET SixmET
S -] 3.50| ARSI R 3.50
3500 -4 = 3.50
FEEEIE 3.50
BEEt 0.10

SHET SikET
%= B 40| BEIBH R 4.40
n E 40
AEEIE 40
BEELT
4400
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ST SikWMET
x B | 408 BEBmEHE | 408
E B | 408
AREEIF 4 .08
BREt 0.10
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No.10

SRT SERmBET
= B 6.10 BERSHE 6.10
6100 H = 6.10
FEEIE 6.10
BEEt 0.10
_
No.9
SHRT SEmMET
= B 450 BAIRM R 4.50
4500 # = 4.50
|| FBREE 4.50
BEET 0.10
No.8
SET HEMET
= E 500 BERSE 5. 00
5000 N # = 5.00
| AeERIE 5.00
BEEx
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